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Suppose that each of 300 patients has a probability of 1/3 of being helped by a treatment/ndependent

el

of its effect on the other patients. Find approximately the probability that(more than 13

are helped by the treatment. (Be sure to use the continuity correction. You will not receive full

credit otherwise)
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. (3 pts) Southwest overbooks its flights, knowing some people will not show up. Suppose for a plane
that seats 350 people, 360 tickets are sold. Based on previous data, the airline claims that each
passenger has a 90% chance of showing up. Approximately, what is the chance that at least one

4 empty seat remains? (There are no assigned seats.)
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